MomenTum, IMPuLse, AND ColLlisioNs

Use conservation of momentum to solve the following problem.

A 45 kg woman stands up in a 60 kg canoe of length 5.0 m. She walks from a point 1 m
from one end to a point one meter from the other end. Ignoring res1stance due to the
water, how far does the canoe move? . o ;)F
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MomeNnTum, IMPuLse, AND ColLLisioNns

A 20.0 kg projectile is fired at an angle of 60.0 degrees above the horizontal with a speed
of 80.0 m/s. At the hightest point of its trajectory, it explodes into two fragments with
equal mass. One falls vertically to the ground. Where does the second fragment land?
How much energy was released in the explosion?
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MomenTum, IMPuLse, AND ColLuisions

Two identical containers of sugar are connected by a massless cord that passes over a
massless frictionless pulley with a diameter of 50 mm. The two containers are at the

same level. Each originally has a mass of 500 g.
a) locate the horizontal position of their center of mass.

b) If the containers are prevented from moving and 20 g of sugar is moved from one

container to the other, where is the new center of mass?
c¢) If the containers are now released, in what direction does their center of mass move?

What is its acceleration?
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